20243 A= A = o A Ml A
ANTFE : F723 (29 = A

1.3 & 966,830 959,504 7,326
1.uAYR S 866,431| 861,869 4,562
1AM W n S 726,592| 726,592 0
17185 470,657| 470,657 0
1.%4 470,657| 470,657 0

2.9 197,595 197,595 0

1. 4359 49,915 49,915 0

2.3 W= 40,245 40,245 0

3755 5,340 5,340 0

4. WY AL 840 840 0

5. w2 24,000 24,000 0

6. 2 AFF7IIFUARSFD) 600 600 0

7. 0A R YT F2 AR 3,600 3,600 0

8. A F G TR D) 7,200 7,200 0

9. #YAF TS 5,133 5,133 0

10. 78 521 1] 15,120 15,120 0

11. 84 F 71 40,102 40,102 0

12. 2] F1 2] 5,500 5,500 0
3.2 12,320 12,320 0

1. A7k 12,320 12,320 0

4. 7= 46,020 46,020 0

1. nA Ay g 46,020 46,020 0

2 A HE . A Rr e 139,839 135,277 4,562
17185 76,570 76,570 0
155 76,570 76,570 0

2.9 39,774 38,307 1,467
1LATSG 7,509 7,509 0

2.3 6,384 6,384 0
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.o rdd 1,848 1,848 0

4.7V 55 4,680 4,680 0

5.7 o F2]H] 3,360 3,360 0

6.8 -4 F7Hm] 7,747 7,747 0
7. A7k 3,266 1799 AT oo 101590 11 79000 - 1,467,000

8. 57 AT 720 720 0

9. AFH x| 4,260 4,260 0

3. 2R 8,135 5,040 3,095
LAY

4 R 15,360 15,360 0

1. AR e 15,360 15,360 0

2.71e} wALRF 78,923 79,643 -720

1A oA A 71,993 71,993 0

1. oA 71,993 71,993 0

1.7]17HA L Q1 7 ) 66,339 66,339 0

2. 71 A AW R 5,654 5,654 0

2. 71ekr 6,930 7,650 -720

1.4 6,930 6,930 0

1.71et+ % 6,930 6,930 0

2. A 0 720 =720
1.71ek 0 720 -720 j%jg?;%jgf%%)?ﬂ%¢% » B708)- -720,000

3.uAY Bx 9 s} 21,476 17,992 3,484

1. w2 A e7ts) 1,200 1,200 0

1. AEA 1,200 1,200 0

1. 71k 300 300 0

2. 4Rk 300 300 0

3.09H] 600 600 0

PRI 20,276 16,792 3,484
$85 2024 089 209 154 48% 08% 2 ABEHAANEWS 4 ZEsta



o Ak

A
o
A\
ol

20248}y

e

[0

%= A

e

of 28 Al A

avy
do

o

o
~—

1.5 2~z ga A} 860 860 0
1. A 4 5 2] 1] 860 860 0
2 WA YUk R A | 19,416 15,932 3,484
5 5 (BEA2F)nAd LFFEAN] 0 FA
k=3 52 21y
L StEEHA 19,416 15,932 3484 (13 766, 0009117) 3)-71 4 (15,282, 0009))= 9,451,000
2.8 A B /W& A} A4 62,567 58,757 3,810
1.+ #e 15,756 15,756 0
1.3 a4 15,756 15,756 0
1.5-934m) 3,444 3,444 0
1. 92 3,444 3,444 0
2.8 28] ;g2 H] 12,312 12,312 0
1.AEF 12,312 12,312 0
2. 5717 6,426 6,537 -111
1.8 w9 w7t Bg 2,629 2,740 -111
1.3 AT5 200 200 0
1. A 521 200 200 0
2.5t AN AA 834 900 -66
S AZFAA - AR ] -7
1.3 &2 834 900 -66 Lehd A73AF - 7(23,15091+20%8)-7] -137,000
A(600,0009)=
2,38hd AW AAL - A A (11,1509 %409 ) - 54 000
7173 (100,000 )= ’
2,38 F+7AAF ¢ A7 (162,5009 %238} 125000
F)-717 (200,000 )= ’
3.HANEY 1,595 1,640 -45
RSB e A A AAe B SFAA wsH] - AA _
s % 810 431 (16,2509 412784131718 (24000091 )= 45,000
2. 81 A H A 800 800 0
2.3} a3 9 A e 3,797 3,797 0
1.9 E=E7g 1,917 1,917 0
1. 49k 1,917 1,917 0
2. 371454 830 880 0
1. 4980 880 880 0
3.9 e 1,000 1,000 0
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i _ o Aol | o Abed | =7} =7 ==t
AR | G | A ARG A5 AN & == e =
1. g uk8-1] 1,000 1,000 0
3.3 57 40,385 36,464 3,921
1.8 838529 2,800 2,800 0
1.8 8884 2,800 2,800 0
1.3 20 2,800 2,800 0
2. WEER)9-H 26,840 26,840 0
1. WS EX ALY £93n)] 26,840 26,840 0
1.+95% 700 700 0
Sgoen WEEASAA] AAEY BEY) 0 3F
23052 G 24,100 24,100 0 (80,0009 %53]+55,000¢1)-7] 7 (400,000 )= 55,000
AR SR EE IR 60,000
(25,0009 %227 +10,0000)-71 4 (500,000 )= ’
WEEA A AL edv]  AH 115000
(20,0009 %149 x13]+4, 5009 )-7] 7 (400,000 )= '
3. HFETYH| 2,040 2,040 0
3. EA Y 10,745 6,824 3,921
1. & AR A = 1,815 1,750 65
o 0o G AHA RGN B (65,0009 1
1. 0580 1,815 1,750 65 21708 65,000
2.8t WA 1Y 4,730 5,074 -344
ol T8 & oly] : A=A )
1. 0580 4,730 5,074 -344 wAg A Tl 2 F78 (4,730,000 41 -344,000
a)-714(5,074,000¢ )=
3. A ELY 4,200 0 4,200
(A2 LSSl % wdd AduE 7Y
SFAE 2] n
Lo 420 00 20 e 00,00091414%)-71 8 (021 4,200,000
37|84 weBE 32,376 30,608 1,768
1,07 g% 10,518 10,226 292
1.a%85=2 Y 526 526 0
1. WA WA (R =4 ) 9] 126 126 0
1. 088990 126 126 0
2. R AFAAE 400 400 0
1.71et4% 400 400 0
2.7o] uFgE 442 450 -8
1. 0724 442 450 -8
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1. WS- 442 450 8] (400,000 )= -8,000
3.8 wads 1,300 1,000 300
1.9 1,300 1,000 300
171849 500 500 0
2. 2973 500 500 0
3. %] 300 0 300 gij;(?g f T B7(25,0008x12 300,000
4.8 wtds 150 150 0
1. 90799 150 150 0
1. WS- 150 150 0
5.7 wysE 2,350 2,350 0
1.9 2,350 2,350 0
1. 059 H 2,350 2,350 0
6. 45 Wi 500 500 0
A X 500 500 0
1. 285 =] 200 200 0
2. g 300 300 0
7.9% AREE 2,600 2,600 0
1.3 2,600 2,600 0
1.95% 1,260 1,260 0
2. S| 1,340 1,340 0
8.9]=o] wEs 2,150 2,150 0
1. 0799 2,150 2,150 0
1.9 1,050 1,050 0
2. BAALG A F200] 100 100 0
3. =AM 400 400 0
4. 71EpA ] 5] 600 600 0
9. 49 witds 500 500 0
1. 0799 500 500 0
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1. WS- 500 500 0
2.3 A9Ls 19,026 17,870 1,156
1.A4&8s 3,530 3,180 350
1.5 8524 2,130 2,130 0
1. WS- 2,130 2,130 0
2. 9FuFEE AN 900 900 0
1. 099 900 900 0
3. A 3] 500 150 350

1. - H] 500 150 350 j}gﬁ;éﬁ; L: 7378 (150,000912%1)- 150,000

A3 AFER] : AA 3 ™

2. AFANITHEE 1,900 1,900 0
1.89°83k% 1,900 1,900 0
1.1 1,900 1,900 0
3. ol s 9,280 8,370 910
1.5t &% 460 460 0
1. 0520 300 300 0
2.8k 160 160 0
2. NAE=FHEE 8,820 7,910 910
2. g 5,750 5,750 0
3.5 Z) 200 200 0
4. RA28F 4,316 4,420 -104
1.12AAEF 4,316 4,420 -104

1% 4,195 4,299 104 iii ;‘i ?—32200 i‘)gil(izoo%*esofg ~104,000
2.2 2] 121 121 0
3. 2HFEI(0d) &% 2,832 2,512 320
1A 37]1 () Al s 2,832 2,512 320
1LAZRNES 2,832 2,512 320
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20243 A % A= of| AFHE A A
of Ak F723] el s H1)
o A% | 718 | A&7 2(9)
49| a9 | An AngE qrsAwe | AN e | S h

1959 420 420 0

0.5 9] 2,987 1,967 320 gijﬁf’—fmgﬂi]@ﬁxiégzogg(f;w 320,000
3. 5 AA 10 125 125 0
448 WS E 56,155 31,535 24,620
1.3t &9 18,971 18,971 0
153k ag-f 18,971 18,971 0
T A 4,800 4,800 0
17|} 2,304 2,304 0
2. 2953 2,284 2,284 0
3. &g 212 212 0
2. 5713405 14,171 14,171 0
1.9 14,171 14,171 0
2. A WS 2,400 2,400 0
154 W58 2,400 2,400 0
1. Ao A o ol 2,400 2,400 0

150885 1,98 1,800 186 i;ﬁf@ﬁii:%ﬁij)z 478(50,0009 186,000
2. 2] -] 100 100 0
3.542F 2,284 4,964 -2,680
L5ASE2Y 2,284 4,964  -2,680
1. 547 1,784 4,964| 3,180

1.E2A 7L 1,784 4,964|  -3,180 gx"gigii Zé: (f;‘é%éég%*i‘ﬁﬂ -3,180,000
2. =A% 500 0 500

1325 &3] 500 0 500 E;Z‘j*ﬂ*;%(iiﬁl + 774(10,00091+15% 300,000

=AY A3 &du] - AA <

ﬂ&g&;lﬁ%_ﬂ%ig&): 1+ A7 (5,0009 200,000
4.7 54 32,200 5,200| 27,000
LIs3]ar]e<d 32,200 5,200 27,000
L= ]5+5e9 20,000 0 20,000
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of| Ak F723] w9 s de)
gat A4 | 14 | W=z oo
= PARSINIRS DARS RN RE0! W27 2 ()
A | g | AR | AR A5 AN & = S o'm
(BEH2F) (A3 S5 FAEF
1. 05&gn 20,000 0 20,000 2,300,000
e H) @ A A(230,0009%10F)-7]1 8 (0)=
(B RA_25) (NSA &3] ey FHv)En] ¢
7374 (100,000 *7 %108 )-71 4 (09)= 7,000,000
(B HFH_2F) (NFA 3] &5 2FA =} 900000
2 1 AA(100,0009x93])-7] 4 (0¢))= '
(B EA_2F) (WA S35 T2 0 F
(30,0009 #7994 53] )-7] A (09 )= 4,200,000
(A2 (WA &3] e FdEa]
7473 (40,0009 #7 x48}+53] )-7]1 A (09 )= 5,600,000
2. 8758 10,000 3,000 7,000
1.994] 400 400 0
(AEA2F)SAETE 59 @ 4A
2. W& 7,780 2,600 5,180 - g 420,000
A (70,0009 %321 x23))~7] 4 (0] )=
(UA_2R)HAES 2 2 A ¢ 3A
(15,0009 =79 %233]+35,0009)-7]1 4 (0 )= 2,450,000
(*é%‘ﬁ_%)%ﬁf% THLEH A 630,000
(45,0000 %798 %2%)-7] 4 (0))=
(B HPH_253)A543] Ax2dAd SASE 14
2 A8 A (12,0009778%203])-7] 4 (09)= 1,680,000
(RA 234548 AR2dAA S4FE 9%
A E 2] n
3. A5 1820 0 1820 Hl 7 78(260,0009%77)-7178 (09)= 1,820,000
3. EELReY 2,200 2,200 0
1.8 $dn 2,200 2,200 0
5.7]€f A9 A w&3y 300 0 300
1.0 3 599 300 0 300
1.9t n g2 a9ey 300 0 300
(AEA_23) WS99 AA(7,0009
1.08$gn 300 0 300 - ’ 300,000
WG] #4278 +6,0009)-7]1 4 (09)=
5. 0885 29 154,382| 124,636 29,746
Ly 9 42,685 41,382 1,303
1.5 8Ae 42,685 41,382 1,303
1. AT ARl 7 H) 37,530 36,227 1,303
SRl e] A1 AFATA HAF(FAAF) ¢ HA(216,0009
1.3 %2 A 7n] 34,347 33,065 1,282 12906700081 )1 4 (2. 609, 00081 )= 50,000
MEAFAL AR 0 (80,0000 %17
1,232,000
*182+32,0009)-7] 4 (240,0009 )=
. RFATAL HAQF AR R F5R
2.8l 63 42 21 77 (2,800,00091%0.3%)-7] % (8,0004) )= 1,000
AFAFAL B AT A AR SR 90000
747 (54,0009 198 x13)~-7]74 (34,0009 )= ’
3. 3T AU S 3,120 3,120 0
2. WE3A}S S 1,855 1,855 0
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1. WS- 1,855 1,855 0
3.NFHTEH 2,000 2,000 0
1. 0o 2,000 2,000 0
4.0 9 =44 800 800 0
1. WS- 500 500 0
2. Nk - Fn 300 300 0
5.3 4% 500 500 0
1. d9kEgH 500 500 0
2. A =LA 7,100 7,100 0
1. [ ] A AR = 3,100 3,100 0
L] aggA e &9 600 600 0
1.9 210 210 0
2.0 5$FH| 390 390 0
2.7 H 500 500 0
1. WS99 500 500 0
;g;zggjﬁﬂ%}g% A 2,000 2,000 0
1. 255G 2,000 2,000 0
2.8t & o 1,300 1,300 0
1.8 uZ a2 1,300 1,300 0
1.+95% 500 500 0
2. 2589 u| 800 800 0
3. Ak A& 2,700 2,700 0
1.9t 2,700 2,700 0
1. W99 2,700 2,700 0
3.3 - 8,300 6,300 2,000
1.AFgagg 8,300 6,300 2,000
1A YA A 8,300 6,300 2,000

1.71e453 3,040 0| 3,040 iij{gﬁiijﬁoﬁgﬂ_ﬂf‘;2;(()3(1)08?3;&:*40 980,000
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ALt 0 F7H23] (29 - HdD)
At A4 | 14 ww .
dakal | jatel | =7t AE71 (D)
AR | ] | A | AR A7 5 A = S L= @ =
(AgA_2F:) ey mdsta A 620.000
(31,0009 x2510A] 7H)-7] A (0))= ’
FESN FAred 0 A (31,0009 36 1440000
Al ZH)+(36,0004 %941 1) )-7]1 A (0¢))= T
5 o oyauy 300 1.700 1 00| TEH A s AR 00)-714 1400 000
etre ’ (1, 400,00090)= T
shed kA oA FAE] ¢ AA0Y)-7]
=1 71 o O = (e} oo
-930,000
73 (930,0009 )=
(AEA_2F) ey mdsta A 930.000
77 (31,0009 #1541 7H28H3)- 71 (09 )= ’
Frdsta 9n] 0 (92,0008 #53] )-
3. L dH 4,360 4,300 60 o ° -40,000
HE L 714 (500,000 )=
(YA 2 Py EAsa waEE T
7373 (10,0009 #5748 23] )-71 4 (09)= 100,000
. (AR 25t ey mdstn saE
4.8+ 5Z0 B 280,
sEvE 300 0 301 5 79 (43, 75091 +83])~71 4 (70,0009 )= 80.000
st A mxetw SrGFEH|E 1 AA 50,000
(100,000 %33] )-71 4 (350,0009) )= '
(AEA 253t aa = 43tal Sh5aH) 70.000
B AA(35,000923])-714 (09)= ’
5. B AAY QG F- 5310 300 300 0
4.3F5A94 &9 3,870 3,870 0
1.ARSA$S 3,870 3,870 0
1. 4383495 9 3,870 3,870 0
1. 058 H 3,370 3,370 0
1R 5] 500 500 0
5.8 A 92,427 65,984 26,443
1. 2237474 92,427 65,984 26,443
1.9 - A2) 2,200 2,200 0
1.8 E 0] 2,200 2,200 0
2.PCS) 1,017 500 517
U FYH 0 A (250,000 #4T)
1.8]F54]n 1,017 500 517 ’ 517,000
e +17,000)-7]173 (500,000¢1 )=
3.8 A 89,210 63,284 25,926
1.A140 39,435 48,284 -8,849 AU R AdE A 2 -8,849,000
(500,00099%322] )-7] & (24,849, 0009 )=
ANl vEFTFLYH ¢ B A (500,0009 %52
2. 1]EYu 49,775 15,000 34,775 ’ 20,755,000
1ET %-245,0009)-714 (5,000,0009 )=
AFdAd 57 Fdn - FA 14.020.000
(1,402,000 %10%)-71 4 (09)= T
6.5 Yuke- 94,304 92,305 1,999
1.8tm 7|9 £ 24,104 24,104 0
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15X 71289 24,104 24,104 0
1. 07 5,000 5,000 0
1.4 RkG=8-] 100 100 0
2,994 1,000 1,000 0
3. Rkl Fxm] 900 900 0
4. AAFP A H 3,000 3,000 0
2. 3949 13,154 13,154 0
1. dRkp8n) 10,114 10,114 0
2. o] 1,200 1,200 0
3. AWl 5] 1,840 1,840 0
3. q 5,950 5,950 0
1.71ebrd 300 300 0
2. drk g 600 600 0
3.994] 4,090 4,090 0
4. DRk Fx1] 960 960 0
2,414 ] fA 68,600 66,601 1,999
1. 8 A A ] f A 68,600 66,601 1,999
1. 38T 2ANZT ST 23,380 21,381 1,999
L7 e 15,199 13,200 1,999 gﬂij (1375;;‘3) ((1)6(2)2?;200%*12%”9’000 1,999,000
sl s} , s =
2. A8 ER 2,500 2,500 0
3NETTFaT 5,681 5,681 0
2.950 300 300 0
1.48m 300 300 0
3. A1 #e 8o 9,551 9,551 0
1. dRkpEgn) 9,551 9,551 0
4. A4 Rk 23,660 23,660 0
1. 717 A 224171 1] 5,360 5,360 0
2. ARk 17,500 17,500 ii(’;‘ig’? ;(])0% izg (8,547,000€1+1'd)-714 -1,453,000
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20248HA = M=o AE AN

M= 1 A% =4 .
ﬂov%‘)jx—ﬂizgﬂ(f%iwﬂ] 737 (145,3009) 1.453.000
3. A L H A H)] 800 800 0
5.5 #e) 6,600 6,600 0
1.4 ¥kEgH 6,600 6,600 0
6. 347 5,109 5,109 0
1. dRkp8n) 5,109 5,109 0
3.8t e P 1,600 1,600 0
1.3 039943 500 500 0
1.8 -9 91 3] 2-% 500 500 0
1. gk 5710 500 500 0
2.3 gy 1,100 1,100 0
1.8k 23] -9 1,100 1,100 0
1. WS- 800 800 0
2. Rk S0 300 300 0
7.3 WA g 1,796,584 1,796,584 0
1LAAESS 9 A 1,796,584 1,796,584 0
1. A g5 1,796,584| 1,796,584 0
1. oAk 1,796,584 1,796,584 0
1. 4148 1,796,584 1,796,584 0
8.3t A FgF 500 500 0
1.oH]H] 500 500 0
1.¢fn]y] 500 500 0
1.ou]H] 500 500 0
1. cjlu]H] 500 500 0
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